MIAM I-D:ADE, MIAMI-DADE COUNTY, FLORIDA
I METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Air Master Awning
Carr. #2 Interior KM. 56.7
Barceloneta, P.R. 00617

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Series “Continental Line” Outswing Aluminum Casement Window

APPROVAL DOCUMENT: Drawing No. 1083, titled “Outswing Casement Impact Window (Continental
Line)”, sheets 1 through 2 of 2, prepared by W.W. Schaefer Engineering & Consulting, P.A., dated 12/28/01,
signed and sealed by Warren Schaefer, P.E., bearing the Miami-Dade County Product Control Approval stamp
with the Notice of Acceptance number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 as well as approval document mentioned above.

The submitted documentation was reviewed by Theodore Berman, P.E.

NOA No 02-0514.01

Expiration Date: October 24, 2007
Approval Date: October 24, 2002
Page 1




1.

o
OPENING TYPE JAMB TO OPENING MINMUM | MINIMUM z €8
2 BISKING, OPENINGS & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & (SUBSTRATE) FASTENER TYPE EMBEOMENT |EDGE DIST. WINDOW HEIGHT | NUMBER OF LOCK ! by
DS TO THE STRUCTURE. = w3
3 :(LLMrYAR'?gTARVE & r%s&ssréir;%EscnrALL BE IN ACCORDANCE WiTH THESE DRAWINGS | 2X_ WOOD FRAME OR BUCK NO. 12 SMS SCREW 1/ v POINTS REQUIRED g gg
ARY Ul | . P w - ” " e z
4. THE DETALS & SPECIFICATIONS SLCoA\:IrL«Y H‘éi'éf.'f"é?én‘%'é&?gn??‘ gln%%suas CMU/CONCRETE () 1/4" CONCRETE SCREWS | 1 /4 2 43 5/8” 10 72 3 complying with the & R
TESTED & PROPOSED FOR WATER, AIR, IMPACT, CYCLIC & UNIFORM STATIC AR ; 43 1/2" OR LESS 2 ding C SR - NN L
PRESSURE TESTING IN CONFORMANCE WITH DADE COUNTY PROTOCOLS Pa 201, | ("WCONCRETE SCREWS SHALL BE {TW RAMSET/RED HEAD TAPCONS, HILTI / Florida Sgldine 0"‘{ < a g
202 & 203 FOR LARGE MISSILE (MPACT WINOOWS. KWIK~CON It OR POWERS RAWL TAPPER (HARDENED S’EEL OR S.S.). Date_{O <t &
5. THESE WINDOW SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH NOA#_ Q2 B
THE SOUTH FLORDA BULDING CODE, 1994 MAMI-DADE COUNTY EDITON. * ANCHOR NOTE: FRAME MAY BE EITHER DIRECT MOUNTED TO THE OPENING, MOUNTED ONTO A P.T. CONTINUOUS Miami Dade Product Coatrol 5
S I O cAWINGS SPACER, OR ANCHORED TO A MIN. 2X4 NO. 3 SOUTHERN PINE WOOD BUCK. WHEN ANCHORED TO A 2X4 BUCK, new RE NG eV,
SPECIFIED EMBEOMENT TO BASE MATERAL SHALL BE BEYOND WALL FINISH OR NO. 10 SCREWS SHALL BE USED. WHEN DIRECT MOUNTED OR MOUNTED WITH SPACER, 1/4" CONCRETE SCREWS SHALL By __* | 1083
stucco. BE USED. SEE "ANCHOR REQUIREMENTS TABLE" FOR EMBED REQUIREMENTS. PROPER MATERIAL SHALL BE USED SHEET NO
BETWEEN ALL DISIMILAR MATERIALS (BLOCK/CONCRETE & ALUMINUM). 1 oF

[ 36" MAX. F.W. ———=

SEE "CORNER DETAILS"

ON THIS SHEET
p f
9 1/2"
- ® R .
e NO. 10 X 2
PH S.S. SCREW
R 2 5/8 i (1 PER CORNER)
8" 0C. || ™ max. pd0. l
©MAX.
S _ / :__ 25 3/4"
T o f e MAX.
& / HANDLE
g ; (BN -
N - N O = NO. 10 X 1"
Ire} LOCKING . PH S.S. SCREW
HARDWARE | i 16 1/2 (1 PER CORNER)
| TYP. FRAME SCREW AT 8" 1L MAX.
MAX. 0.C. SEE “FRAME
ANCH(ER REQUIREMENTS /1 A R
TABLE" ON THIS SHEET
_ FOR SCREW REQUIREMENTS.

6
MAX.
& | 8" MAX. 0.C. .6
MAX. (TvP.) MAX.

EXTERIOR ELEVATION
SINGLE VENTED CASEMENT

SCALE: 3/4"=1'-0"
ALLOWABLE DESIGN LOAD
POSITIVE NEGATIVE
70 PSF 70 PSF

THESE WINDOW SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED
FOR DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE
DESIGN LOADS”™ TABLE.

MITERED CORNER SEALED
WITH MORTON M-70
BACK BEDDING

* FRAME ANCHOR REQUIREMENTS TABLE

L

FRA

NO. 10 X 1" PH S.S.

SCREWS (2 PER CORNER)

RNE

LOCK REQUIREMENTS

SEAL JOINT (ALL
MEETING SURFACES)
WITH BOSS 315
RTV SILICONE

DATE:
12/28/01
=
&
z
Q
=
o
&
S
@
i
&
z
o
4

DRAWING TITLE,

QUTSWING CASEMENT IMPACT WINDOW (CONTINENTAL LINE)

2 INTERIOR, KM. 56.7

AIR MASTER AWNING
BARCé‘LONETA, P.R. 00617

CARR.

MANUFACTURER

787-846-2110

& CONSULTING, P.A.
600 SANDTREE DRIVE; SUTE 2038

W. W. SCHAEFER ENGINEERING

CONSULTANTS

PALM BEACH GARDENS, FL 33403
PHONE: 561-775-4902 FAX: 861-775-4903

KL




BUCK & BUCK MORTON M-70 3/8" ITEM #[ PART | ITEM DESCRIPTION L MANUFACTURER/NOTES
|/ ATTACHMENT BY OTHERS BACK BEDDING FARTS B oy
. - - S AR S MORTON M—70 1 3819 [HEAD & SILL JAMB 6063-T5 ALUMINUM
N -FRAME FASTENER BACK BEODING 2 3818 |SIDE_JAMB 6063-15 ALUMINUM H
14 2 (SEE SHEET 1) 16" uax 3 3985 | SASH 6063-T5_ALUMINUM
B & E SHIM 4 3845 |SASH CORNER KEY 6063-T5 ALUMINUM
S 574" N } 5 3835 |SASH HANDLE 6063-T5_ALUMINUM
3 /_@ / BITE ! HARDWARE §
SEALANT 6 - ]S.S. 4-BAR FRICTION HINGE ANDERBERG 401 SERIES &
BY OTHERS @_) 7 — | LOCKING HANDLE AS REQUIRED TO OPERATE LOCKS |I
/‘@ 8 - |LOCK KEEPERS (LOCK PIN PLATES) HARDWARE TECH #RZ5388 z
FINISHES & 9 - LOCKS HARDWARE TECH #ATKB14 2
PERIMETER SEALS & SEALANTS ¢
SEALANTS GILAZING DETAIL 10 | 223 ]VINYL FRAME WEATHERSTRIP (ALL SIDES) [SOUTHERN PLASTICS BULB SEAL S
BY OTHERS o 3/8" SOLUTIA SAFLEX LAMINATED GLASS MISCELLANEOUS FASTENERS
T (1/8" HT. ST./0.09 PVB/1/8" HT. ST.) 11 - NO. 10-32 X 3/4" PH S.S. SCREW 2 PER KEEPER
SEE GLAZING I 12 - NO. 6 X 5/8" FH S.S. SCREW QTY AS REQ'D FOR LOCK BAR LENGTH ﬁ
DETAL ON = 1/4” CONCRETE SCREW T0 A 13 - #10 SLOTIED OR #B PH. X 1/2" S.5. SMS 6 TOTAL PER HINGE Z ;r\
THIS SHEET & S z - g = g
N g REPLACE NO. 12 SCREWS (R—Ek: 14 5/8” X 0.3117 CONT. HINGE BACKER BAR 6083-T5 ALUMINUM 2] 0’8
- SHEET 1 FOR LOCATIONS S HOLD MEMBER LESS 2| 2328,
g & INSTALLATION REQUIREMENTS) &3 BUCK ~ |W 2.550 —"I l— 2.468 l— 1.765 — gl °.c
e .. 3 . r4 < £
e L e e B S A { J}osoo — |-—O.562 ___I | 0.375 E « QCL(\I‘I
8 f - 8 B<S
DN 0.062 - u el gEs®
EXTERIOR 2835 : %_[\ = zz 0
. (@]
(3 L® 2.250 0.062 8l 2R
D [ o312 b gsse £ <<t
= 3.4
~ ) 0.625 e 0080 3.222 § |§ o
= 0.645 | T S
= m— N SIDE_JAMB SE
2 1/4" MAX. _F @ l A ﬁ s £
FRAME FASTENER 2 SHIM HE ¢
(SEE SHEET 1) = 2.219 [~— 1.984 —~| 218 g
E 832
i —— SASH 3| B &0
. e vy T Z uw o
Y 2.000 ol a8
BUCK & BUCK 1.465 Z| =z .3%;
SECTION ATTACHMENT BY OTHERS IR MOUNT DETAIL ' £ Og yo2
TRy % HEAD DETALL SHOWN; OTHER JAMBS SIMILAR 0.124 0.090 APCHN
E: 1/2 FULL SEE SECTIONS FOR DETAL NOT SHOWN 0555 S| B35
, u3g
i—-— 2.000 —-—I Y
(5) SASH HA L |28 58¢
E o |e8o 381
BUCK & BUCK FINISHES & @ H CORNER K HANDLE 1S NON-STRUCTURAL E E%4 938
. ATTACHMENT BY OTHERS PERIMETER ® . & MAY BE SUBSTITUTED 3" Big
: / SEALANTS L WITH SIMILAR Ig;- &
N @ |8v omiers . 2 g
. [
@ : o
— wY
. IXLLLLL COAY TN O ’E ;q
4 e . 2 g
- - ,
’ Approved as complylng with the E ui
N < 8 Florda Buiding Code Y
- te : bue 1844182
N SEALANT SECTION A G~ () 0 ‘ gii:ir:;‘ilnadel’mdndcm -
: BY OTHER m’ _\\ Lorany i
; S SCALE: 1/2 FULL \2_/ FRAME FASTENER By, {,@ £2 1083
(SEE SHEET 1) SHEET NO.
2 o 2




